Subject: Re: confused multiplying arrays
Posted by paulartcoelho on Thu, 11 Nov 2010 21:41:18 GMT

View Forum Message <> Reply to Message

On Nov 11, 7:33 pm, Paulo Penteado <pp.pente...@gmail.com> wrote:
>

> [|f I understand it right, you want total_flux to be a 112864-element

> array, where each is the sum of all 2000 elements in the corresponding
> line of fluxes, weighted by area.

absolutely right.

> total_flux=total(rebin(area,100,112864)*fluxes,1)

hmmm...
why the '100' in rebin(area,100,112864) ?

P.

Page 1 of 1 ---- Cenerated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=6033
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=31557&goto=73479#msg_73479
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=73479
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

